Parts List «..x:

EpaPAIEN
r ¢
Model: KC2000 I8 —YY ZF3—F 523661-1






MmEROIERAICDOLT

1. @D TEX DRI

wiER () - faEs - BRAW - HEZHEEZSLY,

INSEAEAR (A R DEEFRE S RBZELN,

amlEsd TAILMIERSR ] ZTEALLIL,
AERKRIFEBLEZLDEHYET,
ABARRIIBVRDAEFTEELERTLHENAHYFET,

Fig. DRRIZDINT

ATGARR—=UIZFig XK SHBERRLTHYFET, D XX [FATAMN—D
ELORHLESZRLET .

L T

=P/

L 7. TS 1~2
2. IV (T =R DD E) e 3~6
K3 MDAV QU b B 170 2 S 3 B 7~8
4. T (AxTLA BEIUD) e 9~ 10

B T BB B oo 11 ~ 12



1. KC2000
x &




RHEES | HAEES ] &8 W &% m =
1-1 364157 | KC2000 1
1-2 226546 | TUNTIVY 1
1-3 560088 | H'4hUVbA (TH) 1
1-4 560093 | ¥¥7h7Y7° (TH) 1
1-5 054691 | YUhTs 94T 1 | 67494
1-6 089738 | 6 H9K Wb (+ 77 VL) 1 | M5x15
1-7 560094 | AnUNIWMNYTRTY 34T 1 [ 8744
1-8 560158 | 6 h9K Lk (+)SW(TH) 6 | M5X25 77° Vb
1-9 560111 | ¥ ¥5—A9347 (TH) 1 |10 ~17 7494
1-10 560139 | 6 A9H Lk (+) 1 | M6X8
1-11 560147 | NEJK'RAA 1
1-12 560148 | NE/HAB 1
1-13 560149 | TUTANY 1
1-14 560150 | #3240 2Y%FYb 1 | M8t4Y
1-15 560151 | ¥¥YEKUnY 1
1-16 560152 | A3y (H)(-)WSW 2 | M5X14
1-17 560153 | 6 h9# bk (+)WSW 1 | M5X30
1-18 220549 | F194v-) 1
1-19 560136 | #—A7°L—F (TH) 1 | BIG-M KC2000
1-20 560132 | nY3—% (TH) 1 | ECO AN
1-21 215501 | nJv—% 3 | Yy
1-22 560133 | 7A° L (TH) 1 | 3Y939t4F /3.5M
1-23 560099 | AUMIL A VRA(TH) 1 | E47Y
1-24 560102 | AUMIL B YA (TH) 1 3
1-25 232959 | M)ATH34T (T19) 1
1-26 232969 | ADYRLLN - (T19) 1
1-27 234506 | ARYMLIAY 1 | 710L 1/0 87
1-28 220533 | W3 UM 9384T 1
1-29 560104 | ¥ 3AvhN =934T (TH) 1 | 30794
1-30 560158 | 6 h4# b (+)SW(TH) 2 | M5X25 77° €k
1-31 224624 | ¥Y7)— 9 BIG-M 1




2. KC2000
HIUYr—R

AR

e reare
CELEI|C2EY:3 3| CFEES S




RHEES | HAEES ] &8 W &% 1%
2-1 859223 | IYY'Y 1 | EE201/04
2-2 289667 | YuE 1
2-3 289643 | H'AYh 1 | T05
2-4 267290 | A% 2 | M5x20
2-5 282579 | 4uv1L-4 1
2-6 267049 | ' AHYb 1
2-7 269826 | A1V (+)WSW 2 | M5x25WSW #9%
2-8 289657 | ¥737tV77 1
2-9 266402 | A%Y1 2 | M5x55
2-10 289642 | ' AhYb 1 | ~20134%9A8
2-10A 273262 | ' AFYb 1 | 2013410 A~
2-11 272072 | M97ThiN— 1
2-12 289774 | %Y1 1
2-13 261878 | TYh 1
2-14 280144 | 4YE'V2Y (+) 1 | 4x16
-15 280341 | 45098 -2 1
-16 280488 | ATYYY 2 | PPL 6001
-17 261492 | #ALY—I 1
-18 261386 | #4LY—I 1
- 055185 | C h'4ki0 1 | 743728
2-20 261612 | 6 h97FYFK Lk WSW 3 | M5x30
2-21 289671 | E'AbY 1
2-22 261158 | E'AMUY 1
2-23 261036 | E'ARUE"Y 1
2-24 288520 | Z—FMILATYVY 1 | 8E-KV8X11X11.8
2-25 261576 | #—49Yv7° 2
2-26 267193 | 47U99%78a077)—h 1
2-27 269168 | #79F7tV77) 1 |2829 744
2-28 269169 | 479FY1 2
2-29 269173 | A7 vy’ 1
2-30 269647 | #7VFK Wb 2
2-31 269175 | 7YY¥ 2 | 6.1x15x1.6
2-32 261777 | )I=77V9% 2
2-33 286527 | 77UAN-TtY7 C 1 |34 ~36794h
2-34 280366 | 77vhn— 1 [ YIM'L—
2-35 280314 | 979F743077)—F 1
2-36 014210 | Ch'4krn 1 |S10
2-37 269831 | FAIRY (H)WSW 4 | M5x20WSW
2-38 269991 | 4vv3y 1
2-39 280477 | A%Ya 1 | M5x28WSW
-40 269423 | YhHTYb 1 | M5
2-41 282403 | 4YEVRY (+) 1 | M4x14
-42 272066 | Y9 #b7EVT) 1 | 43 ~ 49 7494
2-43 261356 | A—4% 1
2-44 272067 | 419 =93AVA4NTEYTY 1 |45 ~ 49 744




2. KC2000
HIUYr—R

AR

e reare
CELEI|C2EY:3 3| CFEES S




RHES | BRAEE &5 5 B % 1
2-45 267401 | 24l 1

2-46 272068 | 1—-F7tY7Y 1 | 47 ~ 49 7914
2-47 272069 | 1—-F 1

2-48 261074 | 7799 %%v7’ 1

2-49 261075 | 7949 1

2-50 261076 | nUFY%— 1

2-51 261417 | #3490 295+ Yk 1 | M8

2-52 280381 | AN —¥ 2

2-53 261256 | 6 h97 Y%K Wb WSW 2 | M4x25

2-54 286739 | AnN=47°34 1 | CJBY

2-55 269983 | AMYZ AAYFAVT -} 1

2-56 269705 | 38N 1 | 7Y b5 %y




3. KC2000 T v
JaAIILRA—A




BRES

#B

Bk

]

288684
288685
288967
288968
262922

288969
288970
261725
283511
288971

269833
280489
563028

AL WARI—=4T 17
A8=47177)

)=l

ANATNAT YUY
tYhRYY)2

0-77tv7")
A4—40-7°
A5=4)7

A-7" AbY
A3=47" =717

FAIRY (H)WSW
FAIRY (HWSW
NN

—_

[ G G G -y

—y

2~ 10794
3~97)4L

7~979h

M4x16WSW £Y%
M4x20
KC2000




4.KC2000 T v
FrILA, BMHE2Y

20

21

!

R S

¥ 20134108 ~




RHES | HRES mos A W &% m =
41 289885 | ¥¥7°LAT7EV7Y 1 [ 2~15744
4-2 272286 | KVIHRTA 1
4-3 262991 | N—=Y' KT A 1
4-4 262992 | &V hN - 1
4-5 261874 | 79347 1
4-6 283905 | #°4¥77L 1
4-7 262993 | KA Yb 1
4-8 262994 | 8°4%77L 1
4-9 282576 | A Yh 1
4-10 285030 | ¥'IYh 1
4-11 261871 | O Wy’ 1
4- 261876 | Yo' 1
- 261658 | A4~ 1
- 264682 | %Y1 2
- 262996 | A%Y1 4
4-16 261864 | H'A4Yb 1
-17 264691 | OWuy’ 1
-18 266420 | 9Y-+7tv7") 1 119~ 217494
-19 264709 | 4Y—Thn'— 1
4-20 266433 | T—=A7tV7) 1
4-21 264695 | ILAb 1
4-22 269834 | TA1%Y (+)WSW 2 | M5x60WSW
4-23 274157 | 4o497+€077) 1 |24~ 34744
4-24 274158 | 71-I\4Y) 1
4-25 563032 | 4v9%YV7THY7Y 1 | 26794
4-26 269377 | NIy 1
4-27 289352 | 74Tty 7) 1
4-28 289767 | 71-IWNATTHY7Y 1 (29~ 34744
4-29 289768 | N1 TtEUTY 1 |30~ 32744
4-30 288192 | #'OAYb 1
4-31 563016 | N'47° 1 | 3X5X160
-32 288194 | A—n'—70-nN47 1 | 3X6X85
4-33 264653 | 7ANATEU7) 1
4-34 563014 | 997’ 1
4-35 269828 | FAIRY ()W 2 | M5x16W ~ 201349 A
4-35A 273485 | TAIRY (HW 2 | M5X25W 2013 &£ 10 A~
4-36 281208 | A%y ()W 1 | M5x16W AY9 ~ 2013 %9 A
4-36A 273464 | TAIRY (W 1 | M5X25W 2013 4 10 B ~
4-37 281007 | 3~ 1 | F3-9 04 _~1
4-38 273462 | AN 2 | 18X10-8X6 2013 4 10 A~
4-39 273463 | AN -1 1 | 14X10 2013 &£ 10 B~

-10-




5. KC2000
ft & &

-11-



REES | BRES B & b Bk 1
5-1 221460 | K3 A0'% 1
5-2 220534 | AYnhn'— 1
5-3 560127 | M)7Yh4tY*4Y3 (TH) 1 | KC2000/2600
5-4 210418 | AVERWIAANT 1
5-5 219432 | 6 WK HANT 1 | ZAunn 4
5-6 022865 | YAVHFANT 1 | 8x10

-12-




eco
©

Q = LB AETR
BsEHRBEHRZO

Ay R—- b 42— BE 0120-898-114
ZFIFIRERY: AN9:00~PM5:00(+.H. 5 H %2 <)

Printed in japan 2013-10.J




